
1) Find the range of the following set of data:

4, 10, 5

Answer: ____________

2) 24/8 ÷ 27/8

Answer: ____________

3) 2/5 + 5/3

Answer: ____________

4) 9 x 100

Answer: ____________

5) 2/
10 ÷ 2/6

Answer: ____________

6) 1.9 x 3.1

Answer: ____________

7) An amount was decreased by 5% to 
$493.00. Find the original amount.

Answer: ____________

8) Find area of triangle 
a = 6 ft, b = 10 ft

Answer: ____________

9) 'What is the probability of rolling a 
number less than 3.when rolling a dice

Answer: ____________

10) b

a o c
Measure angle boc 

Answer: ____________

11) Solve 15f2 + 4f - 15 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

12) Round 6.11822 to 3 significant 
figures.

Answer: ____________

13) Round 9.65353 to 1 decimal places.

Answer: ____________

14)
11  Find Volume of 
               10       Cylinder 

Answer: ____________

15)
Find the next three numbers in 
the sequence
6,0,0,-6,-6,-12,-12__,__,__

Answer: ____________
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16)
36

4 /8

Answer: ____________

17) 5 x 5

Answer: ____________

18)
10  Find Volume of 
               0       Cylinder 

Answer: ____________

19)
10  Find Volume of 
               0       Cylinder 

Answer: ____________

20) 87% of 15

Answer: ____________

21) (-7) + 7

Answer: ____________

22)

'Name the type of angle.

Answer: ____________

23) (-10) - (-6)

Answer: ____________

24) A number is chosen at random from 
1 to 10. Find the probability of 
selecting factors of 1.

Answer: ____________

25)
10  Find Volume of 
                         Pentagonal Pyramid 

10
10

Answer: ____________

26)
10  Find Volume of 
                         Pentagonal Pyramid 

10
10

Answer: ____________

27) 'What is the probability of rolling a 
even prime number.when rolling a 
dice

Answer: ____________

28) Factorise 6d2 + 50d + 16

Answer: ____________

29) Solve 2s2 + 16s + 19 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

30) 2 - 4.6

Answer: ____________
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31) An amount was decreased by 6% to 
$156.00. Find the original amount.

Answer: ____________

32) 33.92 ÷ 5.3

Answer: ____________

33) 5/8 + 3/6

Answer: ____________

34) A number is chosen at random from 
1 to 10. Find the probability of 
selecting factors of 2 and 5.

Answer: ____________

35) A number is chosen at random from 
1 to 10. Find the probability of 
selecting factors of 2 and 5.

Answer: ____________

36) What would you multiply by to 
increase an amount by 12%?

Answer: ____________

37) Find the value of 's' by completing 
the square of the following equation: 
2 + 10s + 16

Answer: ____________

38) 1/8 + 3/4

Answer: ____________

39) Round 19.1809 to 3 significant 
figures.

Answer: ____________

40) 15/7 x 21/5

Answer: ____________

41) 5/
6 ÷ 2/2

Answer: ____________

42) A number was shared in the ratio 
1:7. The smaller share was 13. What 
was the larger amount?

Answer: ____________

43) 8/
7 ÷ 8/3

Answer: ____________

44) 8/
7 ÷ 8/3

Answer: ____________

45) 5/
1 ÷ 6/6

Answer: ____________
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46) 5/
1 ÷ 6/6

Answer: ____________

47) An amount was increased by 9% to 
$205.00. Find the original amount.

Answer: ____________

48) 5/5 - 3/5

Answer: ____________

49) (0) x (-9)

Answer: ____________

50) 1.5 - 9

Answer: ____________

Total: ___ / 50
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Answers:

1) 6 2) 20/23 3) 21/15 4) 900 5) 3/5 6) 5.89 7) $468.35

8) 15.58845726812ft 9) 1/3 10) 34 11) f = 0.9 or -1.1 12) 6.12 13) 9.7 14) 863.93797973719

15) -18,-18,-24, 16) 6 17) 25 18) 0 19) 0 20) 13.05 21) 0

22) Right 23) -4 24) 0/1 25) 573.49246686299 26) 573.49246686299 27) 1/6 28) (2d + 16)(d + 2)

29) s = -1.5 or -6.5 30) -2.6 31) $146.64 32) 6.4 33) 11/8 34) 0/1 35) 0/1

36) 1.12
37) (s + 5)2

- 9
38) 7/8 39) 19.2 40) 327/35 41) 5/6 42) 91

43) 3/7 44) 3/7 45) 5 46) 5 47) $188.07 48) 2/5 49)

50) -7.5
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